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>> piano.wavetable = wavetable;
>> piano.fs = 48000;

>> piano.name = ' piano '

>> piano

piano =
name: ' piano '

wavetable: [68x4 double]
fs: 48000

wavetable 0000000000000 O0OO0O0O0ODOO0OOCOOOOOOOOOOOOOOOOODOOOO
OO0OO0OO0OOMATLABOOODOOOODOOOOODOOOOODOODOO0OODDOOOODODOOO saveOOOQd

>> save wavetable _piano piano

UO0000000Owavetabe_piano.mat U DOUO0O0OOD0OODO piano 00 OO0OONO
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Wavetable 000001 000000000000 DOCCO00O0O0ODOOODODOOCOOO0O0O0OOODOODOOO

goooooooo
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OO000OO000O0O0 wavetable_synthl OO O OO

tau = length(table); %OoOOOOOoooooooo

goboobooobooboobobobobbooboon

tau length(table); % OOooDoooooooooao
tau round(tau/2);
parts = size(format,1);
for i = l:parts,
tab(;,i) = table(1:tau,i);
end
table = tab;




gbobooobooobolibooboobooboooboooobooooboobooboooooobooboonn
0000000000000 oO00U00o0O0OU0oOoO00DoOo0OOUO0 U0 ()O ooOOooDoUoOoOoUoODoOoUOo
gbooooobooboooooboooobobooobOoboooobooboooboOobooooobOoooooDoOoDn

00 6 OO0 (1) 000000 DOOOOOOOOOODOOOOOOOO
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(http://www.slp.k.hosei.ac.jp/ itou/lecture/2007/ProjectB/matlab-04.pdf) 00000000 ) resample

00000 Owavetable_synth1 0000000000000 O0O000000O0O0O0O0O0OO0OO0OO (resample
O000OO0OhelpOdOooono)g

function wave = wavetable _synth2(num, table, format, fs)
UWAVETABLESYNTHl1wavetable O 0O O 0O OO 00O
% wavetable ooooobobooooooooao
% ADSRO O ODODODODDODOOOOOO
%num 0069 O 440Hz O ADODOO
%format 000000
% [ attack _time (0O) attack _level (1 .
% decay _time () decay _level (1.0
% sustain _time () sustain _level (
% release _time (0O) 0]
tau = round( - __ o ____ ), %O0OoOOOoOoOoOOoooao
base = length(table); % 00000
for i = 1.4,

tab(:,i) = resample(table(:,i), _-______, ______ );
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end
table = tab;

00 wavetable_synth2 U0 O0OD0OODO piano OO0O0OO0O0O0OODOOO0OOOOOOOO0OOODOO

>> soundsc(wavetable  _synth2(60,piano.wavetable,[0.025 1; 0.04 0.5; 0.3 0.015; 1.0 0], piano.fs),
piano.fs);
>>
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